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  SECTION – A  
                  Answer any FIVE questions 

 

 (5   8 = 40) 
 

1.  Mention the causes of the Taiping Rebellion. 

2.  Write about the Treaty of Shimonoseki. 

3.  Why Hundred Days Reform Movement failed? 

4.  What events led to the announcement of the Open Door Policy in 1899? 

5.  What factors were responsible for the rise of communism in China? 

6.  Examine the role played by China in the Second World War. 

7.  Give a brief account of Meiji Restoration in Japan. 

8.  Critically examine the surrender of Japan in the Second World War. 
 

  SECTION – B  
                  Answer any THREE questions  

  

(3   20 = 60) 

 
9.  “The opium problem is not the real cause for the opium wars” – Discuss. 

10.  Describe the causes of the Chinese Revolution of 1911 - was it successful?   

11.  Critically analyse the relations between China and India since 1947. 

12.  Account for the rise of militarism in Japan. 

13.  Give an account of the Manchurian Crisis and explain its results. 
 

jkpHhf;fk; 
 

                                               gFjp - m 
    vitnaDk; Ie;J tpdhf;fSf;F tpilasp 

 

(5  8 = 40) 
 

1. ijg;gp'; fpsu;r;rpapd; fhuz';fisf; Fwpg;gpLf. 

2. rpnkhndhrPfp (Shimonoseki) cld;gof;if gw;wp vGJf. 

3. E]W ehl;fs; rPu;jpUj;j ,af;fk; Vd; njhy;tp mile;jJ? 
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4. 1899Mk; Mz;L jpwe;j btspf;bfhs;if (Open Door Policy) gpufldk; gLj;jf; 
fhuzkhf ,Ue;j epfH;t[fs; ahit? 

5. rPdhtpy; fk;a[{dprk; vHf; fhuzkhd TWghLfs; ahit? 

6. ,uz;lhk; cyfg; nghupy; rPdhtpd; g';if Muha;f. 

7. #g;ghdpy; epfH;e;j bka;#p kPl;rp gw;wp rpW Fwpg;g[ vGJf. 

8. ,uz;lhtJ cyfg; nghupy; #g;ghd; ruzile;jJ gw;wp EQfp Muha;f. 

 
                                              gFjp - M 

              vitnaDk; _d;W tpdhf;fSf;F tpilasp 

 

(3  20 = 60) 

 
9. “Xgpak; nghu;fSf;F cz;ikahd fhuzk; Xgpak; gpur;rid ,y;iy” - 

tpsf;Ff. 

10. 1911Mk; Mz;L rPdg;g[ul;rpf;fhd fhuz';fis tptupf;f. mg;g[ul;rp btw;wp 
mile;jjh? 

11. 1947Mk; Mz;L Kjy; rPdhtpw;Fk; ,e;jpahtpw;Fk; epyt[k; cwt[fis EQfp 
Muha;f. 

12. #g;ghdpy; ,uhQt Ml;rp Vw;gl;ljw;fhd fhuz';fis tptup. 

13. k";r{upa rpf;fy; gw;wp xU fl;Liu vGJf. mjd; tpist[fis tpsf;Ff. 
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